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Abstract

Theriver inlet growing with mangrovesis avigorous ecosystem.
However, the habitat environment of mangroves has been damaged
by concrete structures for preventing flood disasters these years in
Taiwan. Accordingly, people expect the ecological engineering
can be introduced into hydraulic engineering alternately. The bed
materials in mangrove river inlet are saturated sandy silt with high
consolidation settlement and low bearing capacity inherently, and
the excavated soils are hard to reuse at field. Moreover, owing
to the water level changing largely each day and must protect the
mangroves during construction in the mangrove river inlet, so its
workability is inferior to other places. Consequently, the
construction methods used at mangrove river inlet are something
particular and need to be researched further more. In this study,
the inlet of Sirlyu River in Maoli County, are selected as a
research section. Water qualities, soil profiles and soil properties
etc. of selected section are surveyed first. Then, the soils of
selected section are stabilized by cement in order to improve their
strength. According to above-mentioned testing results, six



ecological construction methods are proposed for selected section.
There are many mangrove river inlets in western coast of Taiwan,
and their natural environments are similar to Sirlyu River’s.
Consequently, the results obtained in this study could be applied
to other places, too.
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1. 10.85 CL
2. G,=2.63 w 30.8% y=19.4kN /m’

Ve =144KN/m? e,=0.81



3. 2.35%

4. pH 10.1

5. Vamay =17.0kN/m? W, =15.1%

6. c=0kN/m’ ¢=106

7. C.=0.229 C,=0.012 180kN /m?
C,=0.00171cm’ / sec

8. c=8.3kN/m’ ¢=33.3

Q. 156.9kN / m?

10. 12% 7

11. c=349kN/m* ¢=57.0°

12. 1066.4kN / m?






